
Calculus I (Math 23I) Exam 2

Date: October 28, 2009 Professor IIya Kofman

Justify answers and show all work for full credit. No calculators allowed.
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\ Problem 1 (32pts) . Compute the deriuat'iue +. Do not si,mpli,fy. Show all work!
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Problern 2 (20pts) . Let f (*): 
#

(") [Jse the definiti,on of the deri,uat'iue to find f'(1),
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Use any method to fi"nd f " O).
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Problem 3 (18pts). Graphs of f (*) and g(r) are shown aboue.

(") Let A(r) - f (") g(") . Fi,nd A' (2) .
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Show all work below!
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(b) Let B(r):  f  (g(*)).  Fi,nd B'(2).
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(")  Let C(r)  be the' inuerse of  g(r)  for 0<-r <-3. Fi ,nd C(2) and C'(2).
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Problem 4 (10pts) . F'ind the two po'ints on the elli,pse 12 + 2y2 _ 1 where the
tangent line has slope - 1.
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Problem 5 (12pts) . A ball 'is thrown up from the ground w'ith a ueloci,tA of 80 ft/sec.

(") Fi,nd the marin'Lum hei,ght of the ball.
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(b) Fi,nd the aeloci,ty of the ball when i,t i,s 96 feet aboue the ground (on 'its way up).
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Problem 6 (15pts) . A baseball di,amond 'is o, squa,re wi,th s'ides 3A yards. A batter
hi,ts the ball and Tans toward fi,rst base wi,th a speed of B yd/sec. At what rate ,is h'is
d'istance to second base decreas'ing when he ,is halfway to first base?
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